
MATHS

BOOKS - CBSE COMPLEMENTARY

MATERIAL MATHS (HINGLISH)

CIRCLES

Part A Mcq S

1. In AB and CD are two equal chords of a circle

with center O. OP and OQ are perpendiculars

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_nHE7eBxaGMWW


on chords AB and CD respectively. If

 then  is equal to

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∠POQ = 150∘ ∠APQ

30∘

75∘

15∘

60∘

https://dl.doubtnut.com/l/_nHE7eBxaGMWW


2. Angle in the same segment of a circle are

equal.

A. Equal

B. Complementary

C. Supplementary

D. Vertically opposite angles

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_jfBWDbheDo3k
https://dl.doubtnut.com/l/_nZIh0teaLN7I


3. If AB =12cm, BC=16 cm and AB is

perpendicular to BC, then the radius of the

circle passing through the points A, B and C is

A. 6cm

B. 8cm

C. 10cm

D. 12cm

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_nZIh0teaLN7I
https://dl.doubtnut.com/l/_zaiGMaZQmQtL


4. AD is a diameter of a circle and AB is a

chord. If AD = 34cm, AB = 30cm, the distance of

AB form the centre of the circle is

A. 17cm

B. 15cm

C. 4cm

D. 8cm

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_zaiGMaZQmQtL


5. An
 equilateral triangle of side 9 cm is

inscribed in a circle. Find the radius
 of the

circle.

A. 3cm

B. 

C. 

D. 

Answer: C

Watch Video Solution

3√2cm

3√3cm

6cm

https://dl.doubtnut.com/l/_9jHWM3N1pE9P


6. ABCD is a cyclic quadrilateral such that AB is

a diameter of the circle circumscribing it and

 is equal to

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∠ADC = 140∘ ,  than ∠BAC

80∘

30∘

50∘

40∘

https://dl.doubtnut.com/l/_E95ZD40TQpcS


7. (i) Find the length of a chord which is at a

distance of 12 cm from the centre of a circle of

radius 13cm. 

(ii) The length of a chord is 16 cm of a circle of

diameter 2 cm. find the perpendicular distance

of this chord from the centre of the circle.

A. 5cm

B. 10cm

C. 12cm

D. 13cm

https://dl.doubtnut.com/l/_cWNt18N6xrPm


Part A Fill In The Blanks

Answer: B

Watch Video Solution

1. A segment of a circle in the region between

an arc and a ____of the circle.

Watch Video Solution

https://dl.doubtnut.com/l/_cWNt18N6xrPm
https://dl.doubtnut.com/l/_sxtu0m8bQUYd


Part A True False

2. An arc of a circle is called a_____if the ends of

the arc on the ends of a diameter.

Watch Video Solution

3. Circles having the same centre and different

radii are called____circles.

Watch Video Solution

https://dl.doubtnut.com/l/_fPQReN5N09Ei
https://dl.doubtnut.com/l/_y5uwxUDdBslo
https://dl.doubtnut.com/l/_RUVSxoJcskxq


1. The degree measure of a semi circle is 

Watch Video Solution

180o

2. A circle divide the plane into three parts .

Watch Video Solution

3. A cirlce can have only a finite number of

equal chords.

Watch Video Solution

https://dl.doubtnut.com/l/_RUVSxoJcskxq
https://dl.doubtnut.com/l/_5Hkp8Y7hEIzb
https://dl.doubtnut.com/l/_1Y1sMHut4ilG


4. Theorem 10.2 : If the angles subtended by

the chords of a circle at the centre are equal,

then the chords are equal.

Watch Video Solution

5. Through three collinear points a circle can

be draw.

Watch Video Solution

https://dl.doubtnut.com/l/_1Y1sMHut4ilG
https://dl.doubtnut.com/l/_5Of2rwsxaIur
https://dl.doubtnut.com/l/_Bz2HrHHiwgsk
https://dl.doubtnut.com/l/_Nys4zBO8Y7ZE


6. If A, B, C and D are four points such that

, then A, B,

C and D are concyclic.

Watch Video Solution

∠BAC = 45∘ and ∠BDC = 45∘

7. A circle of radius 3 cm can be drawn through

two points A, B such that AB=6 cm.

Watch Video Solution

https://dl.doubtnut.com/l/_Nys4zBO8Y7ZE
https://dl.doubtnut.com/l/_4B0gjNAFisef


8. If the sum of any pair of opposite angles of

a quadrilateral is ; then the quadrilateral

is cyclic?

A. True

B. False

C. Can not determine

D. None of these

Answer: A

Watch Video Solution

180∘

https://dl.doubtnut.com/l/_74FHLfPSn18d


9. A round pizza is cut into 4 equal pieces.

What does each piece represent?

A. Major arc

B. Sector

C. Segment

D. Semi circle

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_lPN0HxxurRvt
https://dl.doubtnut.com/l/_ZcGtvO1lGz2U


10. AD is a diameter of a circle and AB is a

chord. If AD = 34cm, AB = 30cm, the distance of

AB form the centre of the circle is

Watch Video Solution

11. Given two concetric circles with centre O. A

line cut the circle at A,B,C and D respectively. If

AB=10cm, then find the length of CD.

Watch Video Solution

https://dl.doubtnut.com/l/_ZcGtvO1lGz2U
https://dl.doubtnut.com/l/_Mpqpk4QOuD1M


Part B

12. Prove that the diameter is the greatest

chord in a circle.

Watch Video Solution

13. Circles having the same centre and

different radii are called____circles.

Watch Video Solution

https://dl.doubtnut.com/l/_jYVWl5tOf4cc
https://dl.doubtnut.com/l/_MUSEFfV6K6RG
https://dl.doubtnut.com/l/_g2wW8mRh40Oy


1. Prove that
 any cyclic parallelogram is a

rectangle.

Watch Video Solution

2. A chord of a
 circle is equal to the radius of

the circle. Find the angle subtended by the

chord at a point on the minor arc and also at a

point on the major arc

Watch Video Solution

https://dl.doubtnut.com/l/_g2wW8mRh40Oy
https://dl.doubtnut.com/l/_KWxpFiEnsIA2


Part C

1. If
 the non-parallel sides of a trapezium are

equal, prove that it is cyclic.

Watch Video Solution

2. In an equilateral triangle prove that the

centroid and the centre of the circumcircle

(circumcentre) coincide.

Watch Video Solution

https://dl.doubtnut.com/l/_FsKCUgXX3ui8
https://dl.doubtnut.com/l/_lLnWle34pRWg


3. If two equal
 chords of a circle intersect

within the circle, prove that the segments of

one
 chord are equal to corresponding

segments of the other chord.

Watch Video Solution

4. If the sum of any pair of
opposite angles of

a quadrilateral is 
then the quadrilateral

is cyclic.

Watch Video Solution

1800,

https://dl.doubtnut.com/l/_KtRuWUdI87yw
https://dl.doubtnut.com/l/_JKGiOpHPVl8v


Part D

1. Bisectors of angles A, B and C of a triangle

ABC intersect its circumcircle at D, E andF

respectively. Prove that the angles of the

triangle DEF are , and 

Watch Video Solution

90o − A
1

2
90o − B

1

2

90o − C
1

2

https://dl.doubtnut.com/l/_JKGiOpHPVl8v
https://dl.doubtnut.com/l/_elQvY2F3w6Un


2. Prove that the sum of the angles in the four

segments exterior to a cyclic quadrilateral is

equal to 6 right angles.

Watch Video Solution

3. Let the vertex
 of an angle ABC be located

outside a circle and let the sides of the angle

intersect equal chords AD and CE with the

circle. Prove that 
 is equal to half the ∠ABC

https://dl.doubtnut.com/l/_XOFWLyQUTIoq
https://dl.doubtnut.com/l/_OWHIFhiSm9gX


difference of the
 angles subtended by the

chords AC and DE at

Watch Video Solution

4. Show that if two chords of a circle bisect

one another they must be
diameters.

Watch Video Solution

5. The quadrilateral formed by angle bisectors

of a cyclic quadrilateral
is also cyclic.

https://dl.doubtnut.com/l/_OWHIFhiSm9gX
https://dl.doubtnut.com/l/_LjEKESTv2U6M
https://dl.doubtnut.com/l/_FLxpC5RnvlID


Watch Video Solution

6. Theorem 10.5 : There is one and only one

circle passing through three given non-

collinear points.

Watch Video Solution

7. The opposite angles of a cyclic

quadrilaterals are supplimentary

Watch Video Solution

https://dl.doubtnut.com/l/_FLxpC5RnvlID
https://dl.doubtnut.com/l/_8RcH43G6fRGE
https://dl.doubtnut.com/l/_53tQRBYGec3v


8. The angle subtended by an arc of a circle at

the centre is double the angle subtended by it

any point on the remaining part of the circle.

Watch Video Solution

9. AB and AC are two chords of a circle of

radius r such that AB=2AC. If p and q are the

distances of AB and AC from the centre Prove

that .

Watch Video Solution

4q2 = p2 + 3r2

https://dl.doubtnut.com/l/_53tQRBYGec3v
https://dl.doubtnut.com/l/_9lv6RnRkDbMT
https://dl.doubtnut.com/l/_eCwX8wvFvYdl


Practice Test

1. Equal chords of a circle subtend equal

angles at the centre.

Watch Video Solution

2. Theorem 10.11 : The sum of either pair of

opposite angles of a cyclic quadrilateral is

180º.

https://dl.doubtnut.com/l/_eCwX8wvFvYdl
https://dl.doubtnut.com/l/_XajTOloyk1dB
https://dl.doubtnut.com/l/_TBgh85XDN8VO


Watch Video Solution

3. The angle subtended by an arc of a circle at

the centre is double the angle subtended by it

any point on the remaining part of the circle.

Watch Video Solution

https://dl.doubtnut.com/l/_TBgh85XDN8VO
https://dl.doubtnut.com/l/_PrIr2mCQpito

